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An easy chess problem P12200 en
Disetè Concurs de Programació de la UPC - Semifinal (2019-06-19)

You are given a chessboard, a white piece and a black piece. Each piece can be a king,
a queen, a rook, a bishop, or a knight. In how many ways can you place the two pieces so
that no piece threatens the other piece? For instance, these are three of the 3612 ways to
place two kings on the board:
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Input

Input consists of several cases, each one with two chars to indicate the pieces: ‘K’ for a king,
‘Q’ for a queen, ‘R’ for a rook, ‘B’ for a bishop, and ‘N’ for a knight.

Output

For every case, print the number of ways the place the given pieces on the board.

Sample input

K K

R B

Q N

Sample output

3612

2576

2240
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